Unit 3 Writing Name:

Pre-writing WS )

Long Task (DSE2015 Q7) Class: S5__ ( )
Date:

Topic: Due Date:

Learning English through Popular Culture
You are working on a project entitled ‘Cinemas in Hong Kong’ for the Learning English through Popular
Culture module and have found that fewer people go to cinemas than before. Write a report to explain why

this is happening and to suggest what could be done to increase th number of moviegoers. Give reasons to
support your suggestions.

A. Revise the format for REPORT in U3.17.
B. Level 5 Sample
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It is of great importance
that the cinemas should
attract its audience back.
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Idea-brainstoyning

You don’t need to
write in detail. Just
write down some key

ideas and think about:
1) Vocabulary
2) Sentence patterns

oS

eer evaluation:

O Clear topic sentences?

passive voice
not only...but also
participles

To... (purpose),
...can be of...
provide. ..with...
In light of...

On account of...
Due to....
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Gerunds
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Peer evaluation:

[] Connectives
[] Feasible solutions?

Impersonal Sentences
L] 1tis believed that. ..
O itis suggested
that. ..

O itis hoped that. ..
[ Onecan expect
that. ..
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